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The figuras in the margin indicate full moriz.
All ymbels ars elfisual significenics:

GROUP-A

feuris

Answer any four qusstions from the following

PR - oAl 2 v €S
TAm 511 TR4c] NEse el ot [aderg
{a) What 3'.5. a frequency distnibution?
s TetEa E Y
FgR faowe w991 B 8 7
(b) Dafferentiate betwesn population and sample.
TS € T A i )
(c) Define harmonig mean
e e R =)
SEET AEAE T (aAEE |

(d) Giyespo agvantages of mode
ﬁ:ﬁ_ﬂﬁ'ﬁTéiﬂ-fﬁﬂﬁmm =

(Y What dn vou mean by measures of t:emral tendency?

T = T T o

Trald Waf 96 990 @ g 7
(f) Define standard deviation

AE fagemaT 9T e |
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GROUP-B
el

Answer any four questions from the following b3 =24
TS (B-CFT oTE0 ST eea Me
THE B NG TEsE@ 9tH [eaeg

2 Show that SD is mdependent of the change of origin but dependent on the change ™.} 6
of scile. \ 3
oG (7 S g TR e SRt e et o W sty
So fordie N
Wi’ﬁﬁ(@}ﬁﬁﬁmﬁﬁam?ﬁwmﬁ?

9 W Oege |
3 Calculate the AM from the followmg data; . 6
Class interval | 5060 | 60-70 | 70-80 | 80°90 | 90-100
Frequancy 14 38 | P S| %
S = oo \Iya-_qé;..l_.-_f}b-ba vo-30 | 30-360
s 58 ﬁ.___m:r_- 88 | es s¢
FTaT TRATENTE GETEE, T (AM) Rt e
4o o | 5060 | 60-70 | 70-80 | 80-80 [ 90-100 |
e S X S 34 45
4 fmdmm@mgdm from the followmg frequency distribution 6
% W45 | 245 | 345 | 5

545 | 645 | 745 | ®45
42 10 36 20 6 2 2

S8.¢ | @B.¢ | BB.¢ | @B | LBz | 9B | TB.E
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X | 145 | 245 | 343 | M5 | M5 | 645 | T45 | 845
fi 32 42 +0 36 20 6 2 2
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1y

Compare between Arthmetic Mean and Harmonic Mean. ]
sTiEs 515 oo Rediase T0es 1 9|
WY g HfT Sy ARGAE YAy TR |

5. What 1= mode” What are ts advantages? 343
FIeTE 7 & ¢ 47 TS FR|
5O RO § B UTO BIEREE © S U 7

7. Calculate the mean deviation of the followmng values about mean | 6
B 15, 53, 49 19 &2 7, 15. & 77

T afos =5 o v wids n e
b, 38, 29,85, 55, 53,9, 3¢, 5k, 95

AT A AT AEE®T A auee GO THEa
8 15 53 49. 19 62, 7. 15. 95, 77

GROUP-C
Hen-s
E

Answer any nvo g__uest-iﬂnsllfmm the following [2=2=124
fwfefae @-cem 70 2ms@ TEa e
TA@T T4 Q80 WESE@] ouY AaeE

£ (a) Compute the Stanﬂard__ﬂe_:ﬂ.'iatjﬁﬂ (8.D.) from the followmg data: 10

Marks | 20-29,| 3035 | 4045 | 50-59 | 60-65 | 70-79 | 80-85 | s0-55
No.of studages ' S.f 12 | 15 | 20 | 18 | 1D | 6 3
fores et g e »1d i =23

TEE | 35-35 | 50-t5 | 8085 | @0-f5 | LO-LE | 90-9% | ¥O-¥H | R0-%E

HEEA Y ¢ o= o o o

(T
o
o«
e ]

s -
T RAmeiE BT 1G9 T T4

b= 20-19 | 3039 (4049 | 50-539 | 60-59 | 70-79 | BO-89 | 3099

Ly

Toeed vy | 3 12 1 20 18 10 & 4

Id

(b) Write two advantages of 5. 1)
=] P e Hie 7
" o (S.D) T 3590 BIEGIEE sulegsig |
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9 What are the mers and demerits of Arthmetsic Mean and Geometnic Msan?
FHNTE AR = [UIeR ARSIV &Y TNEE @ © B9 7

10. Calculare Arsthmetic Mean (AM) of marks of the students who appearsd for atest

 Economucs.

Marks 30-39 4D—'15T|5!]—59 60-85 | 70-T9 I B0-B9 | o099
No of Students & 3 l 18] 20 32 | 23 i

oIS w1 F11 (0 O STE -G W 1wl =55

WSS | mo-%% | 8o-8p | @o-Gn | Lo-L% | 40-4% | Yo-bn | S6-35

63 =4 q
sEiomemT uEvm guien Eaeieeet doer smulime e Faees
s 30-39 | 40-29 | 50-59 | 6069 | 70-75.|'80-89 | 90-99
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11.(a) Dustmneuish between simple and Wﬂlig_htﬂd.ﬁrﬂﬁmﬂm Mean (AN).
I U O TEYE SU5E WA 79 T
Y Al G ATy g Teie THEE |

(b) Prove that the sum of dg}'iﬁﬁéﬁ!-ﬂf a set of obgervanons from ther AM is alwavs
ZED ; '

=138 5 T TR (U W T P G T v 2|

4032 -



